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1 ”strong=”2377|������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”5662|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”

x-morph=”OSHM:HVqp3ms” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.2.0”
”strong=”l/123|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0.2”
”strong=”8052|���������� x-morph=”OSHM:HNcfsa” ”strong=”8085|�����������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.0.1.0” ”strong=”m/854|����/��
x-morph=”OSHM:HR/R” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1” strong=”c/6735|�����/�� a” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”b/1471|��������/��� a” x-morph=”OSHM:HRd/Ncmpa”
”strong=”7971|�������� x-morph=”OSHM:HVPp3ms” x-cantillationLevel=”0.0”
strong=”6965|������� b” x-morph=”OSHM:HVqv2mp” strong=”c/6965|���������/��
b” x-morph=”OSHM:HC/Vqh1cp” strong=”5921|��/����� a” x-morph=”OSHM:HR/Sp3fs”
1 Marks a place where we agree with BHQ against BHS in reading L. 2 3
”strong=”l/4421|�����������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0”�
2 ”strong=”2009|������� x-morph=”OSHM:HTm” strong=”6996|������
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0.0” ”strong=”5414|��/���������
x-morph=”OSHM:HVqp1cs/Sp2ms” x-cantillationLevel=”1.0” strong=”b/1471|��������/���
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1” ”strong=”959|��������
x-morph=”OSHM:HVqsmsa” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”0.0” ”strong=”3966|������ x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 3 ”strong=”2087|������� x-morph=”OSHM:HNcmsc”
strong=”3820|���/����� a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”5377|��/���������� x-morph=”OSHM:HVhp3ms/Sp2ms” x-cantillationLevel=”1.1”
”strong=”7931|��������� x-morph=”OSHM:HVqrmsc” ”strong=”b/2288|�������/��
x-morph=”OSHM:HR/Ncmpc”��������|strong=”5553” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”4791|������� x-morph=”OSHM:HNcmsc”
”strong=”7675|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1”
”strong=”559|������ x-morph=”OSHM:HVqrmsa” strong=”b/3820|��/�����/���
a” x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”3381|���/�������� x-morph=”OSHM:HVhi3ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 4 strong=”518|��� a” x-morph=”OSHM:HC”��������������|strong=”1361”
x-morph=”OSHM:HVhi2ms” ”strong=”k/5404|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�������|strong=”996”
x-morph=”OSHM:HR” ”strong=”3556|������������ x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” strong=”7760|������ a” x-morph=”OSHM:HVqsmsa”
”strong=”7064|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1”
”strong=”m/8033|������/�� x-morph=”OSHM:HR/D” ”strong=”3381|���/���������
x-morph=”OSHM:HVhi1cs/Sp2ms” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
1Q
2c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
3n Marks an anomalous form.
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x-cantillationLevel=”0”� 5 strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”1590”
x-morph=”OSHM:HNcmpa” ”strong=”935|������� x-morph=”OSHM:HVqp3cp”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.2.0” strong=”518|���
a” x-morph=”OSHM:HC”�����������|strong=”7703” x-morph=”OSHM:HVqrmpc”
”strong=”3915|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
strong=”349|������ a” x-morph=”OSHM:HTi” ”strong=”1820|�����������
x-morph=”OSHM:HVNp2ms” x-cantillationLevel=”1.1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”1589|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.0” ”strong=”1767|�/������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”1219”
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.1.0” ”strong=”935|�������
x-morph=”OSHM:HVqp3cp” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
x-cantillationLevel=”0.0” ”strong=”7604|������������ x-morph=”OSHM:HVhi3mp”
”strong=”5955|��������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�
6 strong=”349|������ a” x-morph=”OSHM:HTi” x-cantillationLevel=”0.1.0”
”strong=”2664|������������ x-morph=”OSHM:HVNp3cp” ”strong=”6215|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”1158|��������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0” ”strong=”4710|�/�����������
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0”� 7 ”strong=”5704|����
x-morph=”OSHM:HR”��������/���|strong=”d/1366” x-morph=”OSHM:HTd/Ncmsa”
”strong=”7971|��/���������� x-morph=”OSHM:HVpp3cp/Sp2ms” x-cantillationLevel=”1.1.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0”
”strong=”376|��������� x-morph=”OSHM:HNcmpc” ”strong=”1285|��/��������
x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”5377|��/�����������
x-morph=”OSHM:HVhp3cp/Sp2ms” x-cantillationLevel=”1.0.0” ”strong=”3201|��������
x-morph=”OSHM:HVqp3cp” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”376|��������� x-morph=”OSHM:HNcmpc”
”strong=”7965|��/�������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1”
”strong=”3899|���/������ x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”0.1.1”
strong=”7760|���������� a” x-morph=”OSHM:HVqi3mp” ”strong=”4204|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”8478|��/����������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”8394|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 8 ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
x-cantillationLevel=”1.0.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/6|�������������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”2450|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.1.0” ”strong=”m/123|�������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/8394|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”m/2022|����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”6215|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 ”strong=”c/2865|�������/�� x-morph=”OSHM:HC/Vqq3cp” ”strong=”1368|��/����������
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x-morph=”OSHM:HAampc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”8487|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”4616|��������
x-morph=”OSHM:HR” ”strong=”3772|��������� x-morph=”OSHM:HVNi3ms”�������|strong=”376”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”m/2022|����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”6215|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”m/6993|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 10 ”strong=”m/2555|������/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0.0” ”strong=”251|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”3290|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”3680|���/�������� x-morph=”OSHM:HVpi3fs/Sp2ms” ”strong=”955|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”c/3772|����������/��
x-morph=”OSHM:HC/VNq2ms” x-cantillationLevel=”0.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 11 ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.1.0” ”strong=”5975|���/�������
x-morph=”OSHM:HVqc/Sp2ms” ”strong=”m/5048|�������/�� x-morph=”OSHM:HR/R”
x-cantillationLevel=”1.1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0.0” ”strong=”7617|�������� x-morph=”OSHM:HVqc”
strong=”2114|������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
”strong=”2428|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/5237|���������/�� x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”0.1.1.0”
”strong=”935|������� x-morph=”OSHM:HVqp3cp” ”strong=”8179|�/���
x-morph=”OSHM:HNcmsc/Sp3ms” x-wType=”x-ketiv” 4 strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”���������������|strong=”3389” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”3032|������� x-morph=”OSHM:HVqp3cp”
”strong=”1486|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”859 a” x-
morph=”OSHM:HPp2ms” x-cantillationLevel=”0.0” ”strong=”k/259|������/���
x-morph=”OSHM:HR/Acmsc” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 12 ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”7200”
x-morph=”OSHM:HVqj2ms” ”strong=”b/3117|����/�� x-morph=”OSHM:HR/Ncmsc”���/�������|strong=”251”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”5235|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�����������|strong=”8055”
x-morph=”OSHM:HVqj2ms” strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”6|�/������� x-morph=”OSHM:HVqc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�����������|strong=”1431”
x-morph=”OSHM:HVhj2ms” ”strong=”6310|��/����� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
strong=”6869|������ b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
13 ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”935” x-
morph=”OSHM:HVqj2ms” ”strong=”b/8179|�������/�� x-morph=”OSHM:HR/Ncmsc”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”b/3117|�����/���

4+ ”strong=”8179|�/����������/��� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0.1.1”
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x-morph=”OSHM:HR/Ncmsc” ”strong=”343|�/������ x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”��������|strong=”7200”
x-morph=”OSHM:HVqj2ms” ”strong=”1571|��� x-morph=”OSHM:HD”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0.0” strong=”b/7451|��/������/���
c” x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”343|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”���������������|strong=”7971”
x-morph=”OSHM:HVqj2fp” ”strong=”b/2428|��/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”343|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
14 ”strong=”c/408|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”5975”
x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������/���|strong=”d/6563” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”l/3772|���������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/�����������|strong=”6412
a” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”�����������|strong=”5462” x-morph=”OSHM:HVhj2ms”
”strong=”8300|�/���������� x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.0”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc” strong=”6869|������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 15 strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”7138” x-morph=”OSHM:HAamsa”
”strong=”3117|���� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”5921|��� a” x-
morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” strong=”6213|���������� a” x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.1.0” strong=”6213|��������� a” x-morph=”OSHM:HVNi3ms”
”strong=”l|��/���� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1”
”strong=”1576|���/������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.0”
”strong=”7725|�������� x-morph=”OSHM:HVqi3ms” strong=”b/7218|��/�������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”0”� 16 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.1” strong=”k/834|�������/����
d” x-morph=”OSHM:HR/Tr” ”strong=”8354|���������� x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”6944|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”8354|���������� x-morph=”OSHM:HVqi3mp”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”8548|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/8354|�������/��
x-morph=”OSHM:HC/Vqq3cp” strong=”c/3886|������/�� a” x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”0.1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”0.0” ”strong=”k/3808|�����/��� x-morph=”OSHM:HR/Tn”
”strong=”1961|������ x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”�
17 ”strong=”c/b/2022|����/��/�� x-morph=”OSHM:HC/R/Ncmsc” ”strong=”6726|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” ”strong=”6413|��������� x-morph=”OSHM:HNcfsa”
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x-cantillationLevel=”1.0” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”6944|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
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strong=”1004|������ b” x-morph=”OSHM:HNcmsc” ”strong=”3290|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”0.0” ”strong=”4180|���/���������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� 5 We agree with both BHS 1997 and BHQ on an un-
expected reading. 18 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
strong=”1004|���� b” x-morph=”OSHM:HNcmsc”���������|strong=”3290”
x-morph=”OSHM:HNp” ”strong=”784|����� x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.1.1.0” strong=”c/1004|�����/�� b” x-morph=”OSHM:HC/Ncmsc”
”strong=”3130|������� x-morph=”OSHM:HNp” ”strong=”3852|��������
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b” x-morph=”OSHM:HC/Ncmsc” ”strong=”6215|������� x-morph=”OSHM:HNp”
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”strong=”b|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
”strong=”c/398|�/��������/�� x-morph=”OSHM:HC/Vqq3cp/Sp3mp” x-
cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”1961”
x-morph=”OSHM:HVqi3ms” 6 We read one or more accents in L differently
from BHQ. 7 ”strong=”8300|�������� x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” strong=”l/1004|�����/�� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”6215|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0”� 19 ”strong=”c/3423|���������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”d/5045|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”6215|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”c/d/8219|����������/��/�� x-morph=”OSHM:HC/Td/Ncfsa”
x-cantillationLevel=”1.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������������|strong=”6430”
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.2” ”strong=”c/3423|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”7704 b” x-morph=”OSHM:HNcmsc”
”strong=”669|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”1.0”
strong=”7704|������� b” x-morph=”OSHM:HNcmsc” ”strong=”8111|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1144|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/1568”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 20 ”strong=”c/1546|������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”d/2426|���/��� x-morph=”OSHM:HTd/Ncmsa”����/����|strong=”d/2088”
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1.0.0” strong=”l/1121|������/��
5U
6C
7c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
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a” x-morph=”OSHM:HR/Ncmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
strong=”834|������� a” x-morph=”OSHM:HTr”�������������|strong=”3669
a” x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”����������|strong=”6886” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/1546|������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”b/5614|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”3423|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”0.0” strong=”5892|������ b”
x-morph=”OSHM:HNcfpc” ”strong=”d/5045|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 21 ”strong=”c/5927|������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”3467|������������ x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”1.1.0”
”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”6726|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”l/8199|��������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�����|strong=”2022” x-morph=”OSHM:HNcmsc” ”strong=”6215|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0” ”strong=”d/4410|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”�


